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But not with possession — N5 P72 Dan

OVERVIEW

The Xn>92 teaches that since a gentile can acquire a PXw° as a slave, he can
certainly acquire a fellow gentile as a slave. The Xn>>72 continues that I may think
that the 2"12Y may acquire the 2"y only with 793 but not with 711, however we
derive from 102 1770 2R NV that they can be acquired even 7pma. The X7na
concludes that an 2"5¥ can also acquire a P12 PR (from 2w nn W),

—13499 9850971 19N IYWIADN 1D MTAY DY NPIN DIVNPA VYD
'"w9 explained that when the X773 is discussing 7177 it means a 7237 of servitude,
for instance the slave, either dressed, put on the shoes, or washed his future

master -
— (3,35 97 PYITPT NP P92 NINT

As the Xn>s92 taught us in the first P92 of w17 NO07 that an *1w13 72y can be acquired
through 7111, by doing the above mentioned tasks for his master.

mooIn disagrees with >"w7s:
— 90V G053 NIN 993y T2y 2P NI INIYIN INIY? 1929RT NYP)

And this interpretation is difficult, for even a Jewish slave who is acquired by a

Jew; the master cannot acquire the Jewish servant only with no> or "uw -
— 1052919 12I¥ 19Y 93 (3,7 1 PYITPT NP P93 IMINTI

As the X nx states in the first pap of PwITRP NoON, so certainly a gentile cannot
acquire a PR with prm.

mooIn asks another question on *"w7°5:
=052 D399 72Y YV 139239 Y9 DININ ©2910 T2I¥HY 991931 193y JNIYN ONN 9INT TIV

And furthermore the X7 states there,2 ‘we found that an »"'¥ who is sold to an

2'"ow is acquired with 702, since the entire 1217 of an 2'"12y is with no>’ -
— 593y Taya ©53915 T31Y YV 19537 991 XN *0N 19939 YI9)

! mooIn question is (see 7" 2"1) how can the X3 continue and say 121 X7 2"19¥"; meaning how do we know
that just like an "oy acquires an "oy with (70> and) 7pm similarly an 2"y can acquire a apma X (and the
X7n3 brings a P105 to prove that it is indeed so), but (if the 7P means [like >"wA learns] 12 Ww°3%7) even a PR W?
cannot acquire an X 72v with this type of 1P, how is it possible that an 2"12y should acquire a 7% with this
type of npIn.

2 2,7 PwITp. The ) there derives that an 0™2y is 712 an Y8 W° 72y with 703, The X3 continues that we cannot
derive from this that also a YR is 71 a “XIw° with Ho3 because an 0"y is different 5032 111 921 2XI7.

? The n"A had a difficulty understanding the phrase 7032 2™2y W 3P 921 X1 when (as oo will shortly explain
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And the n"'1 explained there that it (7032 2"0¥ 5w 1117 921 2°X177) means since the
entire 1P of an 2'"oY with regard to an ¥'"'¥ is only with 705 —

mooIn explains now why the n" interpreted 7022 2"y W 11°31p 931 PRI to mean YW 1P 9
7032 ¥"¥a 0"y, for we cannot say that an 2"12y generally has only 703 11p:
— WPY WY 20D 7PN 1Y NPT 1IN 2299 N2IWNA 02915 Ty Y 19 NnYya Yax

However generally (not by ¥"v) the 1% of an 2"y is with ‘759w according to

»"'3 whose ruling we follow as opposed to 5" -
— 19°WNA 052999 721 19 DN MNP MPN NN 937 1IN 529 9INT 119)

And since "1 maintains that 77077 3% money is 712, therefore 212y is 1P

with moswn -
— (x» 91 $Y99927 72 PI92 NMTI

As is evident in the second P95 of ny"1252 ndon —

mooIn offers his explanation as to what 7P means in our X713

$HNIIN 13929 WD 199 299N NNNDN WIAD HY NPINA NXINT WD P98 NON
Rather it is necessary to explain that here we are discussing a 1P of a
conquest by war, and also the 1''1 explained it in this manner.

SUMMARY
There is a dispute, how an 2™>¥ can acquire a ?X°, between *"w1 (through npin
nm7av) and MdoIN (through manbn w12d)

THINKING IT OVER
How does mooin explain that an ¥"¥ is acquired through an%n w122 when we said
TUW) (D2 KOR 7IP1 1K 'Y and 702 ¥"ya 0"oy Sw 11r1p 9210

that) an 2"15¥ has another 137 which is 72°wn, so how can the X 73 state 5032 2"V YW 1»1p 721 PR3, Therefore the
n"A insists that perforce we must say that this means 019y 2w 11°1p 921 2°X31 in a 3"V is q032. Therefore according to
this interpretation it is clear that an 2"12¥ can be 1177 an ¥"¥ only with 702 and not with 717 (as "7 maintains).
* 5"y in PwITP explains that the phrase 5932 2"2y Hw 1™Ip Y21 XA, is regarding PYuoun in general (but not Tay).
Therefore there is no difficulty on >"w7'5 here (for the &7n3 there is not discussing 72¥). The n"1 negates >"w7d there
for 0"oy Hw 1R is with 75°wn (according to °"). Therefore we must say that 5032 2"y W Wo1p 991 2R s
referring to ¥"¥ exclusively, which disproves >"w here that the 2"13¥ can acquire the X7 with 717 1Ip.
3 There is a dispute between " [who maintains that (771077 1) only my» is 729 by a >%7w°] and 7" [who maintains
72w is A1p]. In M52 noon (cited shortly here in mdoIN) we derive from the (7°,73 [772] XIp°) P00 of 71 7Ip W
70y that whatever 1°3p there is by a YX7w> the 0"15Y has the opposite P3p. Therefore according to *"1 a YR’ is 7P
(n"nn) 7032 and an 72°wna 0™5Y; however according to "1 a PRW" is 72°wn2 AP and an 2™V is A0 ANP.
% See (T1xA) X"waAn and 7™ 2",
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